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{df¶  … ñnog gm¶Ýg, OZac gm¶Ýg, J{UV A°ÝS> OZab Zm°boO 
-… CËVaVm{bH$m …-  
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2 4 22 1 42 2 62 1 

3 4 23 2 43 3 63 3 

4 1 24 3 44 2 64 4 

5 1 25 4 45 1 65 3 
6 3 26 2 46 1 66 3 

7 2 27 4 47 4 67 2 

8 2 28 2 48 3 68 2 

9 3 29 4 49 4 69 1 

10 2 30 2 50 1 70 1 

11 1 31 3 51 1 71 4 

12 3 32 3 52 1 72 2 

13 4 33 4 53 1 73 3 

14 1 34 1 54 2 74 1 

15 3 35 3 55 4 75 2 

16 4 36 4 56 2 76 1 

17 2 37 2 57 4 77 2 

18 3 38 3 58 4 78 1 

19 2 39 3 59 1 79 1 

20 1 40 2 60 4 80 3 
 

4 darb {MÝhm§{H$V (#) Ho$bobo àíZ aXX Ho$bobo AmhoV  
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01. Arrange the following units of computer memory in descending order:

byte, gigabyte, bit, megabyte, terabyte

nwT>o {Xboë¶m g§JUH$m§À¶m ñ‘¥Vr‘mnZmMr EH$Ho$ CVaË¶m H«$‘mZwgma ‘m§S>m…
~mB©Q>, {JJm~mB©Q>, {~Q>, ‘oJm~mB©Q>, Q>oam~mB©Q>
01.  terabyte, gigabyte, megabyte, byte, bit

     (Q>oam~mB©Q>, {JJm~mB©Q>, ‘oJm~mB©Q>, ~mB©Q>, {~Q>)
02.  gigabyte, terabyte, megabyte, bit, byte

      ({JJm~mB©Q>, Q>oam~mB©Q>, ‘oJm~mB©Q>, {~Q, ~mB©Q>)
03.  gigabyte, megabyte, terabyte, byte, bit

     ({JJm~mB©Q>, ‘oJm~mB©Q>, Q>oam~mB©Q>, ~mB©Q>, {~Q>)
04.  Terabyte, megabyte, gigabyte, bit, byte

      (Q>oam~mB©Q>>, ‘oJm~mB©Q>, {JJm~mB©Q>, {~Q, ~mB©Q>>)
02. What is the extension of the abbreviation PDF in relation to computer

files?

g§JUH$s¶ ’$mB©btÀ¶m g§X^m©V PDF ¶m bKwê$nmMm {dñVma H$m¶?
01.  Personalized Data Formate 02.  Pixel Digital File

03.  Pictured Data Formate 04.  Portable Document Formate





‘hËdmÀ¶m gwMZm …
1) H¥$n¶m narjm H$mimV H$moUVmhr J¡aàH$ma AmT>ië¶mg Amnbr narjoMr gXñ¶Vm aÔ H$aÊ¶mV ¶oB©c.

2) narjm H$mimV H°$ë³¶wboQ>a, ‘mo~mB©b, narjm J¥hmV AmUVm ¶oUma ZmhrV.
3) narjoZ§Va Amnbr àíZn[ÌH$m (CÎma n{ÌH$m) O‘m H$aVmZm EH$Xm ^abobr ‘m{hVr VnmgyZ ¿¶mdr.
4) narjo~m~V n¶©dojH$ d narjm ¶§ÌUobm ghH$m¶© H$amdo.
5) gXa narjobm {ZJo{Q>ìh ‘m{Hª$J nÜXV bmJy Ho$bobr Zmhr.
6) Amnë¶mbm narjogmR>r ‘Z…nyd©H$ ew ôÀN>m.

(àíZ … 80 JwU … 80)    doi … 1.30 VmgJQ> … B. 8 dr Vo B. 12 dr
àíZn[ÌH$m

  {dÚmÏ¶m©Mo Zmd … dJ©  …

  emioMo Zmd …

  ‘mo~mB©b Z§~a …
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~{jgo

A°S>ìhmÝg boìhb

narjm H|$Ð
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03. What is the extension of the English abbreviation URL in the context of

the Internet?

B§Q>aZoQ>À¶m g§X^m©V URL ¶m B§J«Or bKwê$nmMo {dñVmaê$n H$m¶?
01.  User Requested Link 02.  Ultimate Response Location

03.  Unique Request Locator 04.  Universal Resource Locator

04. Identify the correct pairs from the following: nwT>rbn¡H$s ¶mo½¶ OmoS²>¶m AmoiIm…
(i) JPEG   – Pictures/Photographs (i) JPEG  – ({MÌo/N>m¶m{MÌo)
(ii) MP3    – Audio/Visual – Audio (ii) MP3   – (ÜdZr/ÑH$ -lmì¶)
(iii) XLS    – PowerPoint presentation (iii) XLS  – (nm°danm°BªQ> gmXarH$aU)
(iv) AVI     – Statistical Information (iv) AVI    – (gm§p»¶H$s ‘m{hVr)
01.  (i) and (ii)     02. (ii) and (iii)     03. (iii) and (iv)  04. (i) and (iv)

05. Which of the following pairs of polluted air causes acid rain?

Imbrbn¡H$s H$moUË¶m Xÿ{fV dm¶wÀ¶m OmoS>r ‘wio Amåb nmD$g {Z‘m©U hmoVmo?
01.  Sulfur Dioxide - Carbon Dioxide - Oxides

      (gë’$a S>m¶Am°³gmB©S²>g-H$m~©Z S>m¶ Am°³gmB©S>)
02.  Oxides of Nitrogen - Carbon Monoxide

      (Am°³gmB©Q>S²>g Am°’$ Zm¶Q´>moOZ - H$m~©Z ‘moZm°³gmB©S>>)
03.  Sulfur Dioxide - Oxides of Nitrogen

      (gë’$a S>m¶Am°³gmB©S> - Am°³gmB©S²>g Am°’$ Zm¶Q´>moOZ)
04.  Ammonia Chlorine (A‘mo{Z¶m - ³bmoarZ)

06. Science and technology is a very important factor related to............

{dkmZ d V§ÌkmZ hm EH$ AË¶§V ‘hËËdmMm KQ>H$ ............... g§~§{YV Amho.
01.  international law (Am§VaamîQ́>r¶ H$m¶Úmer)
02.  democracy (bmoH$emhrer)
03.  national power (amîQ́>e³Vrer)
04.  exhange/transfer mechanism (~XbmMr/hñVm§VaU ¶§ÌUmer)

07. What is the average distance (approximate) between the Sun and

the Earth (gy¶© Am{U n¥Ïdr‘Yrb gamgar A§Va (A§XmOo) {H$Vr Amho?)
01.  70 x 105 km. 02.  150 x 105 km.

03. 110 x 106 km. 04.  100 x 106 km.

08. What is the name of the first woman space tourist?

n{hë¶m ‘{hbm A§Vami n¶©Q>H$mMo Zmd H$m¶ Amho?
01.  Jullian Moore (Á¶w{b¶Z ‘ya)   02.  Anousheh Ansari (AZweoh AÝgmar)
03. Paula Radcliffe (nm°bm a°S>p³b’$)  04. Namira Salim (Z{‘am gbr‘)

09. The first person to enter into space was ……….

A§VamimV àdoe H$aUmar n{hbr ì¶³Vr...........hmoVr.
01.  Valentina Tereshkova (ìh°b|{Q>Zm VoaoíH$modm)
02.  Edward H. White (ES>dS>© EM. ìhmB©Q>)
03.  Yuri Gagarin (¶war JmJmarZ)
04.  Alan Shepard (A°cZ eonS>©)














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10. The asteroid belt is located between which two planets in the solar

system? bKwJ«hmMm nÅ>m gy¶© ‘mboVrb H$moUË¶m XmoZ J«hm§À¶m ‘Ü¶o Amho.
01.  Earth and Mars (n¥Ïdr AmÊ[ ‘§Ji)
02.  Mars and Jupiter (‘§Ji Am{U Jwê$>)
03.  Jupiter and Saturn (Jwê$ Am{U e{Z)
04.  Saturn and Uranus (e{Z Am{U ¶waoZg©)

11. Which of the following planets is named after a Greek God, unlike others

which are named after Roman Gods?

Imbrbn¡H$s H$moUË¶m J«hmbm J«rH$ XodmMo Zmd {Xbo Jobo Amho, BVa J«hm§Mo Zmd amo‘Z
Xodm§À¶m Zmdmda Amho?
01.  Uranus (¶waoZg) 02.  Neptune (ZonÀ¶yZ>)
03.  Jupiter (~¥hñn{V) 04.  Mercury (~wY)

12. Which of the following planets have no moons?

Imbrbn¡H$s H$moUË¶m J«hmbm M§Ð Zmhr?
01.  Pluto and Mercury (ßbwQ>mo Am{U M§Ð)
02.  Mars and Venus (‘§Ji Am{U ewH«$>)
03.  Mercury and Venus (~wY Am{U ewH«$)
04.  Pluto and Mars (ßbwQ>mo Am{U ‘§Ji)

13. Which planet has the solar system’s highest mountain Olympus Mons?

H$moUË¶m J«hmda gy¶©‘mboVrb gdm©V C§M nd©V Olympus Mons Amho?
01.  Jupiter (Jwê$) 02.  Uranus (¶waoZg>)
03.  Venus (ewH«$) 04.  Mars (‘§Ji)

14. What is the change in volume of ice when it turns into water?

~’$m©Mo nmÊ¶mV ê$nm§Va hmoVmZm Ë¶mÀ¶m AmH$ma‘mZmV H$moUVm ~Xb hmoVmo?
01.  Size decreases (AmH$ma‘mZ H$‘r hmoVo)
02.  The size increases (>AmH$ma‘mZ dmT>Vo)
03.  There in no change in size (AmH$ma‘mZmV ~Xb hmoV Zmhr)
04.  None of these (¶mn¡H$s Zmhr)

15. Which woman astronaut has set the record for the longest single space

flight by a woman? H$moUË¶m ‘{hbm A§VamidramZo gdm©V bm§~ A§Vami CS²>S>mU
H$aÊ¶mMm {dH«$‘ Ho$bm Amho?
01.  Peggy Whitson (noJr pìhQ>gZ) 02.  Jessica Meir (Oo{gH$m ‘ra>)
03.  Christina Kosh ({H«$ñQ>rZm H$moM) 04.  Sunita Williams (gwZrVm {dë¶åg²)

16. Which of the following space agencies uses a spacecraft named

Hayabusa? Imbrbn¡H$s H$moUVr A§Vami g§ñWm hm¶m~wgm ZmdmMo AdH$me¶mZ
dmnaVo?
01.  National Aeronautics and Space Administration (NASA)

02.  Centre National Detudes Spatiales (CNES)

03.  China National Space Administration (CNSA)

04.  Japan Aerospace Exploration Agency (JAXA)














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17. Space Application Centre (SAC) is located at .............

ñnog A°pßbHo$eZ g§oQ>a (SAC) ............. ¶oWo Amho.
01.  Mumbai (‘w§~B©) 02.  Ahmadabad (Ah‘Xm~mX)
03.  Trivandrum ({Ìd|Ð‘) 04.  None of these (¶mn¡H$s Zmhr)

18. Which organisation launched the first fully private astronaut mission to the

International Space Station?

H$moUË¶m Am§VaamîQ´>r¶ A§Vami g§ñWoZo A§Vami ñWmZH$mda n{hbr nyU©nUo ImOJr
A§Vamidra ‘mohr‘ gwê$ Ho$br?
01.  NASA 02. ISRO 03. SpaceX 04. ESA

19. ‘The Galilean moons’ are the natural satellites of which planet?

J°{b{b¶Z M§Ð ho H$moUË¶m J«hmMo Z¡g{J©H$ CnJ«h AmhoV?
01.  Mars (‘§Ji)  02. Jupiter (Jwê$>)   03. Saturn (e{Z) 04. Uranus (¶waoZg)

20. Indian Space Research Organisation (ISRO) successfully tested solid rocket

booster HS-200, component of which mission?

B§{S>¶Z ñnog [agM© Am°J©Zm¶PoeZ (ISRO) Zo gm°{bS> am°Ho$Q> ~yñQ>a HS-200 Mr ¶eñdr
MmMUr Ho$br, H$moUË¶m ‘mo{h‘oMm KQ>H$ Amho?
01.  Gaganyaan (JJZ¶mZ>) 02.  Aditya-L1 (Am{XË¶-Eb1>)
03.  Chandrayaan-3 (Mm§Ð¶mZ-3>) 04.  Aditya-L2 (Am{XË¶-Eb2)

21. With reference to space science, what is the expansion of ‘FRB’, which

was seen in the news recently? AdH$me {dkmZmÀ¶m g§X^m©V AbrH$S>o ~mVå¶m§‘Ü¶o
{Xgboë¶m ‘FRB’ Mm {dñVma H$m¶ Amho?
01.  First Radio Burst 02.  Fast Radio Burst

03.  Fine Radio Burst 04.  Fast Reactive Burst

22. India’s first satellite Aryabhatta was launched on which day?

^maVmMm n{hbm CnJ«h Am¶©̂ Q²>Q> H$moUË¶m {Xder AdH$memV gmoS>Ê¶mV Ambm?
01.  19 April 1975 (19 E{àb 1975)           02. 28 Nov. 1985 (28 Zm|ìho. 1985>)
03.  20 Aug. 1975 (20 Am°JñQ> 1975)         04. 4 Aug. 1971 (4 Am°JñQ> 1971)

23. Which company has partnered with technology giants such as Meta, Google,

Microsoft and Intel to roll out 5G services?

H$moUË¶m H§$nZrZo 5G godm AmUÊ¶mgmR>r ‘oQ>m, JwJb, ‘m¶H«$mogm°âQ> Am{U B§Q>ob gma»¶m
V§ÌkmZ joÌmVrb {X½JOm§er ̂ mJrXmar Ho$br Amho?
01.  TATA (Q>mQ>m) 02.  Reliance ([abm¶Ýg)
03.  Bharti Airtel (^maVr EAaQ>ob) 04.  Vi (ìhrAm¶)

24. What is “2001 FO32” that is seen in news recently?

AbrH$S>o ~mVå¶m§‘Ü¶o “2001 FO32” {XgUmao åhUOo H$m¶?
01.  Space Shuttle (A§Vami ¶mZ)
02.  Covid Vaccine Candidate (H$mo{dS> bg C‘oXdma)
03.  Asteroid (bKwJ«h)
04.  Rare Earth Metal (Xþ{‘©i n¥Ïdr YmVy)
















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25. On February 1, 2003, Indian astronaut Kalpana Chawla died in which

space shuttle crash landed on earth? 1 ’o$~«dmar 2003 amoOr AdH$memVwZ n¥Ïdrda
naV ¶oVmZm H$moUË¶m ñnog eQ>bMm AnKmV hmoD$Z ^maVr¶ A§Vamidra H$ënZm Mmdbm
¶m§Mo {ZYZ Pmbo?
01.  Apollo II (Anmobmo) 02.  Sputnik - II (’$mëH$Z - II)
03.  Jupiter (ñnwQ>{ZH$-2) 04.  Colombia (H$mob§{~¶m)

26. What is the name of India’s first earth observation satellite which is to be

placed in a Geosynchronous Transfer Orbit?

Geosynchronous Transfer Orbit ‘Ü¶o R>odë¶m OmUmè¶m ̂ maVmÀ¶m n{hë¶m n¥Ïdr
{ZarjU CnJ«hmMo Zmd H$m¶ Amho?
01.  RISAT 11      02.  GISAT 1 03.  GSAT 7      04.  INSAT 11

27. Falcon 9 rocket is used by which space agency?

’$mëH$Z 9 am°Ho$Q> H$moUË¶m A§Vami g§ñWoX²dmao dmnabo OmVo?
01.  Roscosmos 02.  NASA

03.  ISRO 04.  SpaceX

28. The energy produced on the surface of the sun is due to which of the following

reactions?

gy¶m©À¶m n¥îR>^mJmda {Z‘m©U hmoUmar D$Om© Imbrbn¡H$s H$moUË¶m A{^{H«$¶o‘wio hmoVo?
01.  Nuclear fission (H|$ÐH$s¶ {dI§S>Z) 02.  Nuclear fusion (H|$ÐH$s¶ g§‘rbZ)
03.  Displacement Reaction ({dñWmnZ A{^{H«$¶m)
04.  Combination Reaction (g§¶moJ A{^H«$s¶m)

29. Which company has launched ‘High throughput satellite (HTS)’ broadband

internet serveice in association with ISRO?

H$moUË¶m H§$nZrZo BñÌmoÀ¶m ghH$m¶m©Zo ‘High throughput satellite (HTS)’ ~«m°S>~±S>
B§Q>aZoQ> godm gwê$ Ho$br Amho?
01.  Bharti Airtel 02. Jio Infocom

03.  Vi 04. Hughes Communications India

30. ................ has been appointed as the chairman of the ISRO, the Indian Space

Resarch Institute in Junuary, 2022. ^maVr¶ AdH$me g§emoYZ g§ñWoMo åhUOo BñÌmo
Mo AÜ¶j åhUyZ ............ ¶m§Mr OmZodmar, 2022 ‘Ü¶o {Z¶w³Vr Pmbobr Amho.
01.  Dr. K. Sivan (S>m°. Ho$. {gdZ)
02.  Dr. S. Somnath (S>m°. Eg². gmo‘ZmW)
03.  Dr. K. Radhakrishnan (S>m°. Ho$. amYmH¥$îUZ²)
04.  Prof. MGK Menon (àm. E‘²OrHo$ ‘oZZ)

31. Which one of the following country has provided instrumental support to

India’s ambitious space mission ‘Gaganyar’

^maVmÀ¶m ‘hËdm§H$mjr JJZ¶mZ ¶m A§V[aj ‘mo{h‘obm Imbrbn¡H$s H$moUË¶m XoemMo
‘hËdnyU© ghH$m¶© bm^bo Amho?
01.  Japan (OnmZ) 02.  United Arab Emirates (g§¶w³V Aa~ A{‘amV)
03.  France (’«$m§g) 04.  South Koria (X{jU H$mo[a¶m)














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32. On which day, India successfully conducted second nuclear test?

^maVmZo Amnbr Xþgar AUwMmMUr H$moUË¶m {Xder ¶eñdrarË¶m nma nmS>br?
01.  18 May 1974 (18 ‘o 1974)
02.  20 March 1993 (20 ‘mM© 1993)
03.  11 May 1999 (11 ‘o 1999)
04.  17 April 1996 (17 E{àb 1996)

33. NROL-85, which was launched recently, is an intelligence satellite of which

country? (ZwH$VmM àjo{nV Ho$bobm EZ Ama Amo Eb - 85 hm H$moUË¶m XoemMm JwáMa
CnJ«h Amho?)
01.  Russia (a{e¶m) 02.  Istrael (BñÌmEb>)
03.  France (’«$mÝg) 04.  USA (¶w.Eg.E)

34. Who is called the king of chemistry?

agm¶ZmMm amOm åhUyZ H$moUmbm g§~moYVmV?
01.  Sulfuric acid (gëâ¶w[aH$ Amåb>)
02.  Nitrogen Oxide (Zm¶Q´>moOZ Am°³gmB©S>>)
03.  Hydrochloric acid (hm¶Ś>mo³bmo[aH$ Amåb>)
04.  Amino Acid (A{‘Zmo Amåb)

35. The potential energy of your body is minimum when you..............

Vw‘À¶m earamMr pñW{VO D$Om© H$‘rV H$‘r AgVo, Oodhm Vwåhr..............
01.  sitting on a chair (IwMuda ~gbobo AgVm)
02.  sitting on the ground (O{‘Zrda ~gbobo AgVm)
03.  while sleeping on the floor (O{‘Zrda Pmonbobo AgVm)
04.  while standing on the ground (O{‘Zrda C ô AgVm)

36. What is the molecular formula of acetylene used in welding?

dopëS>¨J‘Ü¶o dmnaÊ¶mV ¶oUmè¶m A°{g{Q>brZ Mo aoUygwÌ H$moUVo?
01.  C

2
H 02. C

2
H

2
O 03. C

2
M 04.  C

2
H

2

37. The image formed by a convex mirror is always .................. in size than the

object.

~{hd©H«$ AmaemZo V¶ma hmoUmar à{V‘m Zoh‘rM dñVynojm AmH$mamZo........... AgVo.
01.  big (‘moR>r)   02. small (bhmZ)  03. double (XþßnQ>)  04. triple ({VßnQ>)

38. Among the various forces exerted by one proton on another proton, the

strongest force is ........... force. EH$m àmoQ>m°ZZo Xþgè¶m àmoQ>m°Zda à¶w³V Ho$boë¶m {d{dY
~bm§n¡H$s gdm©V Vrd« ~b........ ~b hmo¶.
01.  gravity (Jwê$Ëd) 02. electro magnetic ({dÚwV Mw§~H$s¶)
03.  central (H|$ÐH$s¶) 04. emaciated (jrU)

39. Which of the following scientist performed the first Hadrog surgery

successfully? Imbrbn¡H$s H$moUË¶m emñÌkmZo öX¶amoJmMr n{hbr eñÌ{H«$¶m ¶eñdr
Ho$br?
01.  William Harvey ({dë¶‘ hmd}) 02.  Dr. Edison (S>m°. E{S>gZ)
03.  Christian Barnard ({¼íMZ ~Zm©S>©) 04.  Davidson (S>opìhS>gZ)
















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40. Kinetic energy of an object of mass 2 kg and moving with speed 2 m/s =

....... 2 kg dñVw‘mZ Agboë¶m d 2 m/s doJmZo OmUmè¶m dñVyMr J{VO D$Om© = ............

01.  8 J 02.  4 J 03.  2 J 04.  16 J

41. Who formulated the laws regarding conductivity of metals?

YmVy§À¶m dhZe³Vr~m~VMo {Z¶‘ H$moUr ‘m§S>bo?
01.  George Ohm (Om°O© Amoh‘) 02.  Michael Faraday (‘m¶Ho$b ’°$aoS>o)
03.  Hans Oersted (h°Ýg AmoañQ>oS>) 04.  Benjamin (~|Om{‘Z)

42. A screen is placed 30 cm in front of an concave mirror.A substance is placed

between the two. No matter how far the object is placed from the mirror, its

image is not visible on the screen, so the focal distance of the mirror is ...............

EH$m A§Vd©H«$ Amaemg‘moa 30 g|‘r A§Vamda EH$ nS>Xm R>odbm Amho. XmoÝhr§À¶m ‘Ü¶o EH$
nXmW© R>odbm Amho. AmaemnmgyZ {H$Vrhr A§Vamda nXmW© R>odbm Var nS>X²¶mda Ë¶mMr à{V‘m
{XgV Zmhr, åhUyZ AmaemMo Zm^r¶ A§Va ............
01.  Should be less than 10 cm. (10 go‘r nojm H$‘r Agbo nm{hOo)
02.  Should be more than 30 cm. (30 go‘r nojm OmñV Agbo nm{hOo)
03.  Should not exceed 30 cm. (30 go‘r nojm H$‘r Zgbo nm{hOo)
04.  Should not exceed 10 cm. (10 go‘r nojm H$‘r Zgbo nm{hOo)

43. The thunder is heard shortly after the lightning; Because ...................

T>Jm§Mm JS>JS>mQ> drO M‘H$ë¶mZ§Va WmoS²>¶mdoimZo EoHy$ ¶oVmo, H$maU..............
01.  Clouds are very high in the sky (T>J AmH$memV Iyn C§Mmda AgVmV)
02.  Speed of light and sound are same (àH$me d AmdmOmMr JVr g‘mZ AgVo)
03.  The speed of light is faster than the speed of sound

             (àH$memMr JVr ÜdZrÀ¶m JVrnojm OmñV AgVo)
04.  The speed of sound is faster than the speed of light

       (ÜdZrMr JVr àH$memÀ¶m JVr nojm OmñV AgVo)
44. The force required to move any object depends on the object’s ...................

H$moUVrhr dñVy hbdÊ¶mgmR>r bmJUmao ~b ho dñVyÀ¶m.......... Adb§~yZ AgVo.
01.  on the width (ê§$Xrda) 02. on mass (dñVw‘mZmda>)
03.  on size (AmH$ma‘mZmda) 04. at length (bm§~rda)

45. Which scientist invented ‘dynamite’?

H$moUË¶m emñÌkmZo S>m¶Zm‘mB©Q>Mm emoY bmdbm?
01.  Alfred Nobel (Amë’«o$S> Zmo~ob) 02. Louis Pasteur (bwB© nmíMa)
03.  Edward (EH$dS>©) 04. Carl Lineaus (H$mb© br{Z¶g)

46. In 1957, which country achieved the first successful record of launching a

satellite using a rocket? 1957 gmbr amoHo$Q>À¶m gmhmæ¶mZo CnJ«h nmR>{dÊ¶mMm n{hbm
¶eñdr {dH«$‘ H$moUË¶m XoemZo Ho$bm?
01.  Russia (a{e¶m) 02. America (A‘o[aH$m>)
03.  India (^maV>) 04. Canada (H°$ZS>m>)

47. The weight of an object of mass 10 kg at the pole will be ................

dñVw‘mZ Agboë¶m dñVyMo Y«wdmdarb dOZ............... Agob.
01.  98.8 N 02. 97.8 N 03.  98.0 N 04. 98.3 N
















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48. Regarding the forces between the two protons the ................ statement is

correct.  XmoZ àmoQ>myZ‘Ü¶o Agboë¶m ~bm§~m~VrV.............{dYmZ AMyH$ Amho.
01.  The nuclear force between two protons is usually greater than the

        electromagnetic force between them. (XmoZ àmoQ>m°Z‘Ü¶o Agbobo H|$ÐH$s¶
       ~b Ë¶m§À¶m ‘Ü¶o Agboë¶m {dÚwV Mw§~H$s¶ ~bmnojm Zoh‘rMm OmñV AgVo.)
02. The electromagnetic force between two protons is no greater than the

       gravitational force between them. (XmoZ àmoQ>m°Z‘Ü¶o Agbobo {dÚwV M§w~H$s¶
      ~b Ë¶m§À¶m‘Ü¶o Agboë¶m Jwê$Ëd ~bmnojm OmñV ZgVo>)
03.  The electromagnetic force between two protons can be greater than

        the nuclear force between them. (XmoZ àmoQ>m°Z‘Ü¶o Agbobo {dÚwV Mw§~H$s¶
      ~b Ë¶m§À¶m‘Ü¶o Agboë¶m H§o$ÐH$s¶ ~bmnojm OmñV Agy eH$Vo>)
04. The gravitational force between two protons can be greater than the

       nuclear force between them (XmoZ àmoQ>m°Z‘Ü¶o Agbobo Jwê$Ëd ~b Ë¶m§À¶m‘Ü¶o
      Agboë¶m H|$ÐH$s¶ ~bmnojm OmñV Agy eH$Vo>)

49. In the modern world the study of oceanography is increasingly necessary

because........

AmYw{ZH$ OJmV gmJaemñÌmMm Aä¶mg CËVamoËVa ‘moR>çm à‘mUmV H$aUo Amdí¶H$ Amho
H$maU.........
A)  Many precious minerals are found in ocean.

A) gmJamV AZoH$ ‘m¡ë¶dmZ I{ZOÐì¶o gmnS>VmV.
B)  Salt, water and fish are obtained from it.

~) Ë¶mnmgyZ ‘rR>, nmUr d ‘mgo {‘iVmV.
C)  The ocean serves to meet the food needs of a growing population.

H$) dmT>Ë¶m bmoH$g§»¶oÀ¶m AÞmÀ¶m JaOogmR>r ‘hmgmJa Cn¶w³V R>aVo.
D)  Ocean is a very useful medium for communication.

S>) ‘hmgmJa ho XiUdiUmgmR>r A{Ve¶ Cn¶w³V gmYZ Amho.
01.  A, C (A, H$) 02.  Only A (’$³V A)
03.  B, C (~, H$) 04.  A, B, C, D (A, ~, H$, S>)

50. What is the name given to the method of taking a piece of a part of the body

to diagnose a disease?

amoJmMo {ZXmZ H$aÊ¶mgmR>r earamVrb EImÚm ̂ mJmMm VwH$S>m KoÊ¶mÀ¶m nÜXVrbm H$moUË¶m
ZmdmZo g§~moYVmV?
01.  Biopsy (~m¶moßgr) 02.  Surgery (gO©ar)
03.  Depsone (S>oßgmoZ) 04.  None of these (¶mn¡H$s Zmhr)

51. If any person wants to hear the echo of his own voice, he should stand at least

................. distance from the reflecting surface.

H$moUË¶mhr ì¶³Vrbm ñdV…À¶m AmdmOmÀ¶m à{VÜdZr EoH$md¶mMm Agob Va Ë¶mbm namdV©H$
n¥îR>^mJmnmgyZ {H$‘mZ .......... A§Vamda C ô am{hbo nm{hOo.
01.  17 m. (17 ‘r) 02.  17 feet (17 ’y$Q>>)
03.  34 m. (34 ‘r) 04.  34 feet (34 ’y$Q>)








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52. What substance gives the skin its black color?

ËdMobm H$mima§J H$moUË¶m nXmWm©‘wio àmá hmoVmo?
01.  Melanin (‘obo{ZZ) 02.  Iron (bmoh)
03.  Vitamin (OrdZgËd) 04.  Heparin ({hn°[aZ)

53. What glass is used to make glasses?

Mî‘m ~Z{dÊ¶mgmR>r H$moUË¶m H$mMoMm dmna H$aVmV?
01.  convex lens (~{hd©H«$ q^J) 02.  flint glass (pâbQ̈> H$mM)
03.  concave lens (A§Vd©H«$ q^J) 04.  None of these (¶mn¡H$s Zmhr>)

54. The value of the acceleration due to gravity (g) when the ball is thrown

upwards is ............ M|Sy> da ’o$H$bm AgVm Jwê$Ëdr¶ ËdaU (g) Mo ‘yë¶...........
01.  positive+ (YZ AgVo) 02.  negative- (F$U AgVo>)
03.  0 (eyÝ¶ AgVo) 04.  growing (dmT>V AgVo)

55. Which metal is formed when copper, tin and zinc are mixed together?

Vm§~o, H${Wb Am{U OñV ¶m§À¶m g§¶w³V {‘lUmVyZ V¶ma hmoUmam YmVy H$moUVm?
01.  Aluminum (A°ë¶w{‘{Z¶‘) 02.  Butane (Vm§~o)
03.  Brass ({nVi) 04.  Gun metal (JZ ‘oQ>b)

56. The total weight of human blood is about ————— body weight?

‘mZdr a³VmMo EHy$U dOZ earamÀ¶m dOZmÀ¶m gw‘mao...........EdT>o AgVo?
01.  4 % (4 Q>³Ho$)  02. 9 % (9 Q>³Ho$)  03. 8 % (8 Q>³Ho$)  04. 12 % (12 Q>³Ho$)

57. If an object is moving with uniform velocity, then

Oa EImXr dñVy EH$g‘mZ doJmZo OmV Agob, Va.....
01.  The movement of the object remains the same and the direction changes.

       (Ë¶m dñVyMr Mmb gmaIr amhVo d {Xem ~XbVo)
02.  The movement and direction of the object changes.

       (Ë¶m dñVyMr Mmb d {Xem ~XbVmV)
03.  The movement and direction of that object remains the same.

       (Ë¶m dñVyMr Mmb d {Xem gmaIr amhVo)
04.  The movement of the object changes, but the direction remains the same.

      (Ë¶m dñVyMr Mmb ~XbVo, nU {Xem VrM amhVo.)
58. Which of the following book is not written by Dr. A.P.J. Abdul Kalam?

Immbrbn¡H$s H$moUVo nwñVH$ S>m°. E.nr.Oo AãXþb H$bm‘ ¶m§Zr {b{hbobo Zmhr?
01.  Failure to Success: Legendary Lives   02.  You Are Born to Blossom

03.  Ignited Minds   04.  A House for Mr. Biswas

59. Where is ‘Dr. APJ Abdul Kalam National Memorial’?

S>m°. E.nr.Oo. AãXþb H$bm‘ amîQ´>r¶ ñ‘maH$ H$moR>o Amho?
01.  Pei Karumbu (noB© H$ê§$~w) 02. Krusadai Island (H«w$gXmB© ~oQ>)
03.  Kattupalli Island (H$Å>nëbr ~oQ>) 04. Quibble Island (p³d~b ~oQ>)

60. Which of the following metals was first used by man?

‘Zwî¶mZo Imbrbn¡H$s H$moUË¶m YmVyMm Cn¶moJ gd©àW‘ Ho$bm?
01.  Gold (gmoZo) 02. Silver (Mm§Xr>)  03. Iron (bmoh>) 04. Copper (Vm§~o>)


















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61. Simplify:  (gai ê$n Úm.)
[823 + (- 398)] + [413 - 312 + (- 400)] - (-30) + 286 - {( - 115) + 117}

01.  - 440 02. - 287 03.  287 04. 440

62. Which of the following is the sum of 8 + 
10

7
 + 

100

7
 ?

Imbrbn¡H$s 8 + 
10

7
 + 

100

7
 Mr ~oarO {H$Vr Amho?

01.  8.77 02.  8.97 03.  8.16 04. 9.6

63. If the numbers 43,048, 42,544, 43,486, 42,454, 43,844 are arranged in a

suitable order, then what will be the difference between the greatest and the

smallest numbers ?

Oa 43,048, 42,544, 43,486, 42,454, 43,844 hr g§»¶m ¶mo½¶ H«$‘mZo ‘m§S>br Jobr
Va gdm©V ‘moR>çm Am{U gdm©V bhmZ g§»¶m§‘Ü¶o H$m¶ ’$aH$ Agob?
01.  1300 02.  1090 03.  1390 04.  796

64. Which of the following options is correct according to the rules of writing

Roman numerals?

amo‘Z A§H$ {b{hÊ¶mÀ¶m {Z¶‘mZwgma Imbrbn¡H$s H$moUVm n¶m©¶ ¶mo½¶ Amho?
01.  XDVII 02.  DDXC 03.  CLLVV 04.  MDCLXXI

65. If x = a, and y = b is solution of x - y = 2 and x + y = 4 then the value of a and b

is ________ and _________

Oa x = a, Am{U y = b ho x - y = 2 Am{U x + y = 4 Mo g‘mYmZ Agob Va a Am{U b ‘wë¶
......... Am{U .......... Amho.
01.  3, 5 02.  5, 3 03.  3.1 04. - 1, - 3

66. Area of rhombus is 144 cm. square length of one of its diagonal is twice the

length of an other diagonal find the length of smaller diagonal.

g‘ ŵO Mm¡H$moZmMo joÌ’$i 144 go‘r Amho. Ë¶mÀ¶m EH$m H$U©Mr Mm¡ag bm§~r Xþgè¶m H$U©À¶m
bm§~rÀ¶m XþßnQ> Amho, Va bhmZ H$UmªMr bm§~r emoYm.
01.  24 cm. (24 go‘r) 02.  32 cm. (32 go‘r>>)
03.  12 cm. (12 go‘r) 04.  18 cm. (18 go‘r>)

67. A square having side 4 cm., difference between their area & perimeter is....

EH$m Mm¡agmMr ~mOw 4 go§.‘r. AgyZ, Ë¶m§Mr n[a{‘Vr d joÌ’$imVrb ’$aH$ ........Amho.
01.  4 02.  0 03.  1 04.  2

68. Sum of two...................number is zero.

XmoZ .............. g§»¶m§Mr ~oarO ewÝ¶ AgVo.
01.  same (gma»¶m) 02.  opposite ({dê$ÜX>)
03.  even (g‘) 04.  odd ({df‘)

69. Length of rectangular park is 100 m. while is 80 m. then it’s perimeter is

..........m. EH$m Am¶VmH¥$Vr ~mJoMr bm§~r 100 ‘r. Amho d Ë¶mMr ê§$Xr 80 ‘r. Amho. Va
Ë¶m ~mJoMr n[a{‘Vr ......... ‘r. Amho.
01.  360 02. 370 03.  260 04.  250


















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70.  4)}24(]2)32{[(

01.  20 02.  16 03.  - 20 04.  - 16

71. If ,
5

532 
x  then 1 - x 1 is equal to...........

Oa ,
5

532 
x Va 1 - x 1 =.............

01. 
5

8
02. 

5

8
 03.  0 04.  -1

72. If 23% of a is 46, then find a = ..........

Oa a À¶m 23%= 46 Va a =.............

01.  150 02.   200 03.  20 04.  300

73. Which of the following Statements is true for a rectangle?

Am¶VmÀ¶m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
01.  All rectangles are squares (gd© Am¶V ho Mm¡ag AgVmV)
02.  It’s diagonals are perpendicular (Am¶VmMo H$U© (EH$‘oH$m§Zm) b§~ AgVmV)
03.  It’s diagonals are equal (Am¶VmMo H$U© g‘ EH$ê$n AgVmV)
04.  All sides are equal (Am¶VmÀ¶m gd© ~mOy g‘mZ AgVmV)

74. Euler’s Formula is given by (Imbrbn¡H$s H$moUVo ¶wbg©Mo gwÌ {Xbo Amho?)
01.  2EVF  02. 2EVF 

03. 2V-F-E  04. 2EVF 

75. What  should be multiplied by (-12) in order to get 180?

(-12) ‘Ü¶o H$moUVr g§»¶m {‘idbr H$s, 180 hr g§»¶m {‘iob?
01.  15 02.  - 15 03.  16 04.  - 16

76. Which of the following statements holds correct?

Imbrbn¡H$s H$moUVm n¶m©¶ ~amo~a Amho?

N W Z04.W    N  Z03.

ZN  W02.     ZWN 01.





77 Guru reads 
5

3
 of a book. He finds that there are still 80 pages left

to be read. What is the total number of pages in the book?

Jwê$ EH$m nwñVH$mVrb 
5

3
 n¥îR>o dmMVmo. AOwZ Ë¶mbm 80 n¥îR>o dmMm¶Mr AmhoV, Va Ë¶m

nwñVH$m‘Ü¶o EHw$U n¥îR>m§Mr g§»¶m {H$Vr Amho?
01. 100 02. 200 03. 300 04. 400

78. Two numbers are in proportion. Their L.C. M is 675 and G.C.D. is 45. then

sum of two numbers is ________

XmoZ g§»¶m à‘mUmV AmhoV. Ë¶m§Mo L.C. M 675 Amho Am{U G.C.D. 45 Amho.Va XmoZ
g§»¶m§Mr ~oarO...........
01. 45 02. 360 03. 225 04. 145

79. If 6 (1 - 2x) = 9 (1 - x) then, x = ____ Oa 6 (1 - 2x) = 9 (1 - x) Va, x = ____

01. 1 02. 3 03. -1 04. -3


















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80. Planets are spheres in the sky.................

J«h ho AmH$memVrb Jmob AgyZ.........
01.  The revolve around the sun and are automatic

       ( Vo gy¶m©^modVr [’$aVmV d ñd¶§M{bV AgVmV)
02.  They revolve around the axis of other planet

       ( Vo Xþgè¶m J«hm§À¶m Amgm^modVr {’$aVmV)
03.  They revolve around the sun and receive light from it

       ( Vo gy¶m©^modVr [’$aVmV d Ë¶mÀ¶m nmgyZM àH$me KoVmV)
04.  All of the above

       ( darb gd©)


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